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Do Now:

Factor each of the following completely.

1. 25x-36)°

(5x-by (5%t by)

3. —8x’+125

- ( B’ -125)
— (3%-5) 4K +IDk+a5)

v N
3~y 0y -3y

3x(x-39) 4 [ (x-4)
(3x#y Yx-2y)

4. 27y +64x°

By 9y 1axy oy )



Date:

Name:
Ms. Loughran

PC: Factoring using Substitution

Factor each of the following completely.

1. (Sa+1*-2(5a+1)-3 2. (@ +1)?-7(@*+1)+10

(5&«1150@\) x ;:_"7’“ 10
B (x-2)%-5)
.ZZSILa + At “M -2 -3 (a’n—u)(a’d)-':’)
> 1) o>-4
50 -4 (8&.{«4)@;&“—2)

(5a-2)504 2)
08 vst Subshivhyy

(Sas1 -3 )Sut1 #1) = (5p-2)Sa2)

3. (a® +2a)’ -2(a’ +2a)-3 4. 3x+2)*+8(3x+2)+12

= i ldy = 3x¢3

x' -2 -3 .

(%-31x+1) Y +Py413
(().’&i\s-)[(x’n\u\) (9,\ qa* 3\)
(a—\)lﬂﬂthm D) (3“,‘“ LXZX*;H))

(3% + ) 3xeY)



5. 2(a+b)* +5(a+b)-3

lu‘y = a+b
Hyry-3
Quf\tbj —5—3
23(\5’(3) -\ (‘5" 3)
(3y-1)y+3)

(a1 kasbe3)
(Ans2p-1)(0 b¥3)

7. 3(x+5)*+7(x+5)-10
ld‘l:xas

3\)3"4- 73 -10
333 +Ihy- 3y - 10
Y3y - (3y+ 10)
(5-‘)[35 £10)
(X45-1) 3(x+5)+n)

(k# Y 34 154)
(e ul3%+25)

6. (a+2)*-12(a+2)+32
et x=a4d
¥ - 2% + 32
(x-4Yx-3)
(wsa-4)+2-8)
(a-)0-u)

8. x'+4x*+4
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Homework 09-07

Factor each completely.
1) x° +125

(x+5)(x* — 5% +25)

3) x*—64
(x—4)(x* +4x + 16)

5) x>—27

(x=3)(x*+3x+9)

7 1-a°

(1-a)1 +a+a®)

9) x*+27

(x+3)(x2-3x+9)

11) 8x3 +27

(2x + 3)(4x* = 6x+9)

2) @ + 64
(a + 4)((13 —4a + 16)

4 u’+8

(e +2) (1 = 2u+4)

6) 125 - x°

(5-x)25+5x+x?)

8) a® + 125

(a+ 5.)((12 ~Sa425)

10) ¥ +1

(x+1)(x*-x+1)

12) =271’ +125

(=3u + 5)(9u* + 15u + 25)



13) -a® -8

(~a=2)a* -2a+4)

15) 648a + 1029a*
3al6 + 7a)(36 — 42a + 49a°)

17) 64x° +1
(4x+1)(16x> —4x+1)

19) 343m> + 64n°
(7m + 4)1)(491113 — 28mn + 16112)

21) a® +343p°
(a+ 7b)(a* = 7ab + 49b%)

23) 1029yx> +24y*

3y(7x + 2y)(49x% — 14xy + 4y?)

14) 250x* + 128x

2:x(5x +4)(25x* = 20x + 16)

16) 8a° + 125

(2a + 5)(4a* - 10a + 25)

18) 8x* +x

HW2x+1)4x> -2x+1)

20) m® +8n®

(m + 211)(/112 —2mn +4n*)

22) x*-216y°

(x = 6y)(x* + 6xy + 36y°)

24) m* + 64n*

(m + 4/1)(1112 —4mn + 1611:)



